PROGRAM fourgen_smartlure

IMPLICIT none



CHARACTER::date*8,time*8,zone*5

INTEGER::values(8),angle,lure(31,3,200),count,helper

PRINT *,'Smart Lure. Version 0.1.0’

  CALL date_and_time (date,time,zone,values)

 PRINT *,"Today's Date :",date(5:6),'-',date(7:8),'-',date(3:4)



count=1

helper=0

CALL movement(lure,count,helper)

END



SUBROUTINE movement(lure,count,helper)

IMPLICIT NONE

INTEGER::lure(31,3,200),map(3),i,j,iseed,values(8),k,l,deadlure,lastlure

INTEGER::count,begin,end,helper,helper2,waitcount,waitnum

CHARACTER::date*8,time*8,zone*5,maparray(10,10,10),stor(31,200)*3

CHARACTER::yn

REAL::remainder



!PRINT *,'Input wait counter (1-10;6 is recommended)'

 !READ *,waitnum

waitnum=6

waitcount=10**waitnum

!PRINT *,waitcount

helper=helper+1



DO l=1,16

deadlure=0

lastlure=1

map(1)=5

map(2)=5

map(3)=5



DO i=1,200

 CALL date_and_time (date,time,zone,values)

iseed=values(8)

 CALL randnum(iseed)

 remainder=MOD(iseed,26)

  IF (remainder==0) THEN

   lure(l,1,i)=-1

   lure(l,2,i)=0

   lure(l,3,I)=0

   stor(l,i)='N'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   North'

  ELSE IF (remainder==1) THEN

   lure(l,1,i)=0

   lure(l,2,i)=1

   lure(l,3,I)=0

   stor(l,i)='E'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   East'

  ELSE IF (remainder==2) THEN

   lure(l,1,i)=1

   lure(l,2,i)=0

   lure(l,3,I)=0

   stor(l,i)='S'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   South'

  ELSE IF (remainder==3) THEN

   lure(l,1,i)=0

   lure(l,2,i)=-1

   lure(l,3,I)=0

   stor(l,i)='W'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   West'

  ELSE IF (remainder==4) THEN

   lure(l,1,i)=-1

   lure(l,2,i)=1

   lure(l,3,I)=0

   stor(l,i)='NE'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Northeast'

  ELSE IF (remainder==5) THEN

   lure(l,1,i)=1

   lure(l,2,i)=1

   lure(l,3,I)=0

   stor(l,i)='SE'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Southeast'

  ELSE IF (remainder==6) THEN

   lure(l,1,i)=1

   lure(l,2,i)=-1

   lure(l,3,I)=0

   stor(l,i)='SW'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Southwest'

  ELSE IF (remainder==7) THEN

   lure(l,1,i)=-1

   lure(l,2,i)=-1

   lure(l,3,I)=0

   stor(l,i)='NW'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Northwest'

ELSE IF (remainder==8) THEN

   lure(l,1,i)=0

   lure(l,2,i)=0

   lure(l,3,I)=1

   stor(l,i)='U'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Up' 

ELSE IF (remainder==9) THEN

   lure(l,1,i)=0

   lure(l,2,i)=0

   lure(l,3,I)=-1

   stor(l,i)='D'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Down’

ELSE IF (remainder==10) THEN

   lure(l,1,i)=-1

   lure(l,2,i)=0

   lure(l,3,I)=1

   stor(l,i)='UN'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Up/North’

ELSE IF (remainder==11) THEN

   lure(l,1,i)=-1

   lure(l,2,i)=0

   lure(l,3,I)=-1

   stor(l,i)='DN'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Down/North’

ELSE IF (remainder==12) THEN

   lure(l,1,i)=-1

   lure(l,2,i)=1

   lure(l,3,I)=1

   stor(l,i)='UNE'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Up/Northeast’

ELSE IF (remainder==13) THEN

   lure(l,1,i)=-1

   lure(l,2,i)=1

   lure(l,3,I)=-1

   stor(l,i)='DNE'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Down/Northeast’

ELSE IF (remainder==14) THEN

   lure(l,1,i)=0

   lure(l,2,i)=1

   lure(l,3,I)=1

   stor(l,i)='UE'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Up/East’

ELSE IF (remainder==15) THEN

   lure(l,1,i)=0

   lure(l,2,i)=1

   lure(l,3,I)=-1

   stor(l,i)='DE'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Down/East’

ELSE IF (remainder==16) THEN

   lure(l,1,i)=1

   lure(l,2,i)=1

   lure(l,3,I)=1

   stor(l,i)='USE'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Up/Southeast’

ELSE IF (remainder==17) THEN

   lure(l,1,i)=1

   lure(l,2,i)=1

   lure(l,3,I)=-1

   stor(l,i)='DSE'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Down/Southeast’

ELSE IF (remainder==18) THEN

   lure(l,1,i)=1

   lure(l,2,i)=0

   lure(l,3,I)=1

   stor(l,i)='US'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Up/South’

ELSE IF (remainder==19) THEN

   lure(l,1,i)=1

   lure(l,2,i)=0

   lure(l,3,I)=-1

   stor(l,i)='DS'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Down/South’

ELSE IF (remainder==20) THEN

   lure(l,1,i)=1

   lure(l,2,i)=-1

   lure(l,3,I)=1

   stor(l,i)='USW'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Up/Southwest’

ELSE IF (remainder==21) THEN

   lure(l,1,i)=1

   lure(l,2,i)=-1

   lure(l,3,I)=-1

   stor(l,i)='DSW'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Down/Southwest’

ELSE IF (remainder==22) THEN

   lure(l,1,i)=0

   lure(l,2,i)=-1

   lure(l,3,I)=1

   stor(l,i)='UW'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Up/West’

ELSE IF (remainder==23) THEN

   lure(l,1,i)=0

   lure(l,2,i)=-1

   lure(l,3,I)=-1

   stor(l,i)='DW'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Down/West’

ELSE IF (remainder==24) THEN

   lure(l,1,i)=-1

   lure(l,2,i)=-1

   lure(l,3,I)=1

   stor(l,i)='UNW'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Up/Northwest’

ELSE IF (remainder==25) THEN

   lure(l,1,i)=-1

   lure(l,2,i)=-1

   lure(l,3,I)=-1

   stor(l,i)='DNW'

    helper2=i

   PRINT *,’Lure ‘,helper,’   Move ‘,helper2,’   Down/Northwest’

  ENDIF

  CALL waitasec(waitcount)

ENDDO

helper=helper+1

ENDDO



lastlure=200



CALL breeddeterm(lure,stor)

END SUBROUTINE



SUBROUTINE randnum(iseed)

      real function, random(iseed)

      integer iseed,mbig1,mbig2,mbig3

      real u,v,rsmall,ran(97)

      logical lfirst

      data mbig1,mbig2,mbig3,rsmall/843314861,453816693,2147483647,0.4656612e-9/

      data lfirst/.true./

      data ran/97*0.0/



!     If this is the first call to this function, initialize the

!     shuffling array.



      if(lfirst)then

        do 10 i=1,97

           iseed=iseed*mbig1+mbig2

           if(iseed.lt.0)then

             iseed=iseed+mbig3+1

           endif

           ran(i)=iseed*rsmall

10      continue

        lfirst=.false.

      endif



!     Generate a new random deviate using a linear congruential

!     generator.



      iseed=iseed*mbig1+mbig2

      if(iseed.lt.0)then

        iseed=iseed+mbig3+1

      endif

      u=iseed*rsmall



!     Use the new deviate to select one from the shuffling array and

!     then replace the selected one in the array with the newly

!     generated deviate.



      i=int(u*97)+1

      v=ran(i)

      ran(i)=u

      random=v

     return

 end SUBROUTINE



SUBROUTINE waitasec(waitcount)

IMPLICIT none

REAL::j

INTEGER::i,waitcount

DO i=1,waitcount

j=j/i

j=j+i

ENDDO

 j=1

END SUBROUTINE



SUBROUTINE mapping (lure)

IMPLICIT none

INTEGER::lure(31,3,200),i,j,k,fit(31),wall(31),loc(3)



DO i=1,31

 fit(i)=0

 wall(i)=0

 loc(1)=10

 loc(2)=10

 loc(3)=10



!DO j=1,200

 !loc(1)=loc(1)+lure(i,1,j)

 !loc(2)=loc(2)+lure(i,2,j)

 !IF ((loc(1)>=0).and.(loc(1)<=20).and.(loc(2)>=0).and.(loc(2)<=20)) THEN

  !fit(i)=fit(i)+1

 !ELSE IF ((loc(1)<0).or.(loc(1)>20).or.(loc(2)<0).or.(loc(2)>20)) THEN

  !wall(i)=wall(i)+1

 !ENDIF

!ENDDO

ENDDO



CALL fitout(fit,wall)



END SUBROUTINE



SUBROUTINE breeddeterm (lure,stor)

IMPLICIT none

INTEGER::i,j,lure(31,2,200),waitcount,waitnum,gennum,babynum,m

CHARACTER::stor(31,200)*2



!PRINT *,'Input wait counter (1-10;6 is recommended)'

 !READ *,waitnum

waitnum=6

waitcount=10**waitnum

 DO i=1,15

    IF (i==1) THEN

      gennum=1

      babynum=17

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==2) THEN

      gennum=3

      babynum=18

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==3) THEN

      gennum=5

      babynum=19

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==4) THEN

      gennum=7

      babynum=20

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==5) THEN

      gennum=9

      babynum=21

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==6) THEN

      gennum=11

      babynum=22

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==7) THEN

      gennum=13

      babynum=23

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==8) THEN

      gennum=15

      babynum=24

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==9) THEN

      gennum=17

      babynum=25

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==10) THEN

      gennum=19

      babynum=26

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==11) THEN

      gennum=21

      babynum=27

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==12) THEN

      gennum=23

      babynum=28

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==13) THEN

      gennum=25

      babynum=29

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==14) THEN

      gennum=27

      babynum=30

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ELSE IF (i==15) THEN

      gennum=29

      babynum=31

      m=16+i

         CALL breeding (lure,stor,gennum,babynum,m,waitcount)

    ENDIF

  ENDDO



CALL outputfiles(stor,lure)



END SUBROUTINE



SUBROUTINE breeding (lure,stor,gennum,babynum,m,waitcount)

IMPLICIT none

INTEGER::babylure(15,2,200),iseed,lure(31,2,200),i,j,count,rem,gennum

INTEGER::babynum,start,end,m,n,o,waitcount

CHARACTER::stor(31,200)*2,yn



start=1

end=200



DO i=start,end

  IF ((stor(gennum,i)=="N").and.(stor(gennum+1,i)=="N")) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,' Move ',i,' North'

  ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="NE"

   PRINT *,'Lure ',babynum,' Move ',i,' Northeast'

  ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)="NW"

   PRINT *,'Lure ',babynum,' Move ',i,' Northwest'

  ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

    babylure(1,3,I)=0

    stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,' Move ',i,' North'

  ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

  ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="S")))THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="SP"

   PRINT *,'Lure ',babynum,' Move ',i,' Stays Put'

  ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="NE"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,' Move ',i,' North'

  ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,' Move ',i,' North'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up’

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/North'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/North'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/North'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="DE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/Northeast'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/East'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="DS"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="D"

   PRINT *,'Lure ',babynum,' Move ',i,' Down’

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DW"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/West'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="DW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/Northwest'

ELSE IF ((stor(gennum,i)=="N").and.((stor(gennum+1,i)=="DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/North'

ENDIF



!*****************************************

  IF ((stor(gennum,i)=="S").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

  ELSE IF ((stor(gennum,i)=="S").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

  ELSE IF ((stor(gennum,i)=="S").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

babylure(1,3,I)=0

   stor(babynum,i)="SE"

   PRINT *,'Lure ',babynum,' Move ',i,' Southeast'

  ELSE IF ((stor(gennum,i)=="S").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="SW"

   PRINT *,'Lure ',babynum,' Move ',i,' Southwest'

  ELSE IF ((stor(gennum,i)=="S").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=0

   stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

  ELSE IF ((stor(gennum,i)=="S").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="S").and.((stor(gennum+1,i)=="N"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="SP"

   PRINT *,'Lure ',babynum,' Move ',i,' Stays Put'

  ELSE IF ((stor(gennum,i)=="S").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

  ELSE IF ((stor(gennum,i)=="S").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

ELSE IF ((stor(gennum,i)=="S").and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South’

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/South’

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="DN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="D"

   PRINT *,'Lure ',babynum,' Move ',i,' Down'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE”

   PRINT *,'Lure ',babynum,' Move ',i,' Down/East’

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="DE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DSE"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/Southeast'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/South'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/South’

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/South'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="DW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DSW"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/Southwest'

ELSE IF ((stor(gennum,i)==“S”).and.((stor(gennum+1,i)=="DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DW"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/West'

ENDIF





  IF ((stor(gennum,i)=="E").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

babylure(1,3,I)=0

   stor(babynum,i)="NE"

   PRINT *,'Lure ',babynum,' Move ',i,' Northeast'

  ELSE IF ((stor(gennum,i)=="E").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=0

    stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

  ELSE IF ((stor(gennum,i)=="E").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

babylure(1,3,I)=0

   stor(babynum,i)="SE"

   PRINT *,'Lure ',babynum,' Move ',i,' Southeast'

  ELSE IF ((stor(gennum,i)=="E").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

  ELSE IF ((stor(gennum,i)=="E").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=0

   stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

  ELSE IF ((stor(gennum,i)=="E").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="E").and.((stor(gennum+1,i)=="W"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="SP"

   PRINT *,'Lure ',babynum,' Move ',i,' Stays Put'

  ELSE IF ((stor(gennum,i)=="E").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=0

    stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

  ELSE IF ((stor(gennum,i)=="E").and.((stor(gennum+1,i)=="NE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=0

    stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast’

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“E”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

 ENDIF



  IF ((stor(gennum,i)=="W").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="NW"

   PRINT *,'Lure ',babynum,' Move ',i,' Northwest'

  ELSE IF ((stor(gennum,i)=="W").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=0

    stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="W").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="SW"

   PRINT *,'Lure ',babynum,' Move ',i,' Southwest'

  ELSE IF ((stor(gennum,i)=="W").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="W").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,' Move ',i,' North'

  ELSE IF ((stor(gennum,i)=="W").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

  ELSE IF ((stor(gennum,i)=="W").and.((stor(gennum+1,i)=="E"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="SP"

   PRINT *,'Lure ',babynum,' Move ',i,' Stays Put'

  ELSE IF ((stor(gennum,i)=="W").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=0

    stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="W").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=0

    stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest’

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Northwest'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/North'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southwest’

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“W”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/West'

  ENDIF



  IF ((stor(gennum,i)=="NE").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=0

   stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

  ELSE IF ((stor(gennum,i)=="NE").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=1

babylure(1,3,I)=0

    stor(babynum,i)="NE"

   PRINT *,'Lure ',babynum,' Move ',i,' Northeast'

  ELSE IF ((stor(gennum,i)=="NE").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,' Move ',i,' North'

  ELSE IF ((stor(gennum,i)=="NE").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

babylure(1,3,I)=0

   stor(babynum,i)="NE"

   PRINT *,'Lure ',babynum,' Move ',i,' Northeast'

  ELSE IF ((stor(gennum,i)=="NE").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=0

   stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

  ELSE IF ((stor(gennum,i)=="NE").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,' Move ',i,' North'

  ELSE IF ((stor(gennum,i)=="NE").and.((stor(gennum+1,i)=="N"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,' Move ',i,' North'

  ELSE IF ((stor(gennum,i)=="NE").and.((stor(gennum+1,i)=="E"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=0

    stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

  ELSE IF ((stor(gennum,i)=="NE").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="SP"

   PRINT *,'Lure ',babynum,' Move ',i,' Stays Put'

ELSE IF ((stor(gennum,i)=="NE").and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East’

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/Northeast’

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/North'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNE”

   PRINT *,'Lure ',babynum,' Move ',i,' Down/Northeast’

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/East'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/East'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="DS"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/East’

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="D"

   PRINT *,'Lure ',babynum,' Move ',i,' Down'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="DW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/North'

ELSE IF ((stor(gennum,i)==“NE”).and.((stor(gennum+1,i)=="DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/North'

 ENDIF



  IF ((stor(gennum,i)=="SE").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=0

   stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

  ELSE IF ((stor(gennum,i)=="SE").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=1

babylure(1,3,I)=0

    stor(babynum,i)="SE"

   PRINT *,'Lure ',babynum,' Move ',i,' Southeast'

  ELSE IF ((stor(gennum,i)=="SE").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

  ELSE IF ((stor(gennum,i)=="SE").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=0

   stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

  ELSE IF ((stor(gennum,i)=="SE").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   stor(babynum,i)="SE"

   PRINT *,'Lure ',babynum,' Move ',i,' Southeast'

  ELSE IF ((stor(gennum,i)=="SE").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

  ELSE IF ((stor(gennum,i)=="SE").and.((stor(gennum+1,i)=="S"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

  ELSE IF ((stor(gennum,i)=="SE").and.((stor(gennum+1,i)=="E"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=0

    stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

  ELSE IF ((stor(gennum,i)=="SE").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="SP"

   PRINT *,'Lure ',babynum,' Move ',i,' Stays Put'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast’

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/East'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/East'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/Southeast’

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/South'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/South'

ELSE IF ((stor(gennum,i)==“SE”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down'

 ENDIF



  IF ((stor(gennum,i)=="SW").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="SW").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=-1

babylure(1,3,I)=0

    stor(babynum,i)="SW"

   PRINT *,'Lure ',babynum,' Move ',i,' Southwest'

  ELSE IF ((stor(gennum,i)=="SW").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

  ELSE IF ((stor(gennum,i)=="SW").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

  ELSE IF ((stor(gennum,i)=="SW").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="SW"

   PRINT *,'Lure ',babynum,' Move ',i,' Southwest'

  ELSE IF ((stor(gennum,i)=="SW").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="SW").and.((stor(gennum+1,i)=="S"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

  ELSE IF ((stor(gennum,i)=="SW").and.((stor(gennum+1,i)=="W"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=0

    stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="SW").and.((stor(gennum+1,i)=="NE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="SP"

   PRINT *,'Lure ',babynum,' Move ',i,' Stays Put'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest’

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southwest'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southwest’

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southwest'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southwest'

ELSE IF ((stor(gennum,i)==“SW”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/West'

 ENDIF



  IF ((stor(gennum,i)=="NW").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,' Move ',i,' North'

  ELSE IF ((stor(gennum,i)=="NW").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=-1

babylure(1,3,I)=0

    stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' Northwest'

  ELSE IF ((stor(gennum,i)=="NW").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="NW").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,' Move ',i,' North'

  ELSE IF ((stor(gennum,i)=="NW").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="NW").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="NW"

   PRINT *,'Lure ',babynum,' Move ',i,' Northwest'

  ELSE IF ((stor(gennum,i)=="NW").and.((stor(gennum+1,i)=="N"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,' Move ',i,' North'

  ELSE IF ((stor(gennum,i)=="NW").and.((stor(gennum+1,i)=="W"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=0

    stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="NW").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="SP"

   PRINT *,'Lure ',babynum,' Move ',i,' Stays Put'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West’

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Northwest'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Northwest'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/North'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/North'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Northwest'

ELSE IF ((stor(gennum,i)==“NW”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Northwest'

 ENDIF



  IF ((stor(gennum,i)=="SP").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,' Move ',i,' North'

  ELSE IF ((stor(gennum,i)=="SP").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,' Move ',i,' West'

  ELSE IF ((stor(gennum,i)=="SP").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=0

   stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,' Move ',i,' East'

  ELSE IF ((stor(gennum,i)=="SP").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=0

   stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

  ELSE IF ((stor(gennum,i)=="SP").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

babylure(1,3,I)=0

   stor(babynum,i)="NE"

   PRINT *,'Lure ',babynum,' Move ',i,' Northeast'

  ELSE IF ((stor(gennum,i)=="SP").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=-1

babylure(1,3,I)=0

    stor(babynum,i)="NW"

   PRINT *,'Lure ',babynum,' Move ',i,' Northwest'

  ELSE IF ((stor(gennum,i)=="SP").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=-1

babylure(1,3,I)=0

    stor(babynum,i)="SW"

   PRINT *,'Lure ',babynum,' Move ',i,' Southwest'

  ELSE IF ((stor(gennum,i)=="SP").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=1

babylure(1,3,I)=0

    stor(babynum,i)="SE"

   PRINT *,'Lure ',babynum,' Move ',i,' Southeast'

  ELSE IF ((stor(gennum,i)=="SP").and.((stor(gennum+1,i)=="SP"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=0

    stor(babynum,i)="SP"

   PRINT *,'Lure ',babynum,' Move ',i,' Stays Put'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South’

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down’

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/North'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNE"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Northeast'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/South’

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southwest'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“SP”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Northwest'

 ENDIF



IF ((stor(gennum,i)==“UN").and.(stor(gennum+1,i)=="N")) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

  ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

  ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

  ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

    babylure(1,3,I)=1

    stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

  ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

  ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="S")))THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

    babylure(1,3,I)=1

    stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

  ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="NE"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

  ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="UN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Up/North’

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up’

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ North’

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ North’

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ North’

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="DE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="NE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Northeast’

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="E"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="DS"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="SP"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Stays Put’

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ West’

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="DW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)="NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest’

ELSE IF ((stor(gennum,i)==“UN").and.((stor(gennum+1,i)=="DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ North’

ENDIF



  IF ((stor(gennum,i)==“US").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

  ELSE IF ((stor(gennum,i)==“US").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

  ELSE IF ((stor(gennum,i)==“US").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/Southeast’

  ELSE IF ((stor(gennum,i)==“US").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Up/Southwest’

  ELSE IF ((stor(gennum,i)==“US").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

  ELSE IF ((stor(gennum,i)==“US").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“US").and.((stor(gennum+1,i)=="N"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

  ELSE IF ((stor(gennum,i)==“US").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

  ELSE IF ((stor(gennum,i)==“US").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

ELSE IF ((stor(gennum,i)==“US").and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast'

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South’

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest'

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ South’

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="DN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="SP"

   PRINT *,'Lure ',babynum,' Move ',i,' Stays Put'

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="E”

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="DE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="SE"

   PRINT *,'Lure ',babynum,' Move ',i,' Southeast'

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ South’

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="S"

   PRINT *,'Lure ',babynum,' Move ',i,' South'

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="DW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)="SW"

   PRINT *,'Lure ',babynum,' Move ',i,' Southwest’

ELSE IF ((stor(gennum,i)==“US”).and.((stor(gennum+1,i)=="DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ West’

ENDIF





  IF ((stor(gennum,i)==“UE").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

  ELSE IF ((stor(gennum,i)==“UE").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=1

    stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/East’

  ELSE IF ((stor(gennum,i)==“UE").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/Southeast’

  ELSE IF ((stor(gennum,i)==“UE").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

  ELSE IF ((stor(gennum,i)==“UE").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/East’

  ELSE IF ((stor(gennum,i)==“UE").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“UE").and.((stor(gennum+1,i)=="W"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

  ELSE IF ((stor(gennum,i)==“UE").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=1

    stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/East’

  ELSE IF ((stor(gennum,i)==“UE").and.((stor(gennum+1,i)=="NE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=1

    stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/East’

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast’

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“NE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Northeast’

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southeast’

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“UE”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ North’

 ENDIF



  IF ((stor(gennum,i)==“UW").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

  ELSE IF ((stor(gennum,i)==“UW").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=1

    stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“UW").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Up/Southwest’

  ELSE IF ((stor(gennum,i)==“UW").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“UW").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Up/North’

  ELSE IF ((stor(gennum,i)==“UW").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

  ELSE IF ((stor(gennum,i)==“UW").and.((stor(gennum+1,i)=="E"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

  ELSE IF ((stor(gennum,i)==“UW").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=1

    stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“UW").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=1

    stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest’

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ West’

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest’

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ North’

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ West’

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ West’

ELSE IF ((stor(gennum,i)==“UW”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ West’

  ENDIF



  IF ((stor(gennum,i)==“UNE").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/East’

  ELSE IF ((stor(gennum,i)==“UNE").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=1

babylure(1,3,I)=1

    stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

  ELSE IF ((stor(gennum,i)==“UNE").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Up/North’

  ELSE IF ((stor(gennum,i)==“UNE").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

  ELSE IF ((stor(gennum,i)==“UNE").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/East’

  ELSE IF ((stor(gennum,i)==“UNE").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Up/North’

  ELSE IF ((stor(gennum,i)==“UNE").and.((stor(gennum+1,i)=="N"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="UN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Up/North’

  ELSE IF ((stor(gennum,i)==“UNE").and.((stor(gennum+1,i)=="E"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=1

    stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/East’

  ELSE IF ((stor(gennum,i)==“UNE").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“UNE").and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East’

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="NE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Northeast’

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ North’

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="NE”

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Northeast’

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="E"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="E"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="DS"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="E"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP”

   PRINT *,'Lure ',babynum,' Move ',i,' Stays Put'

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="DW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ North’

ELSE IF ((stor(gennum,i)==“UNE”).and.((stor(gennum+1,i)=="DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ North’

 ENDIF



  IF ((stor(gennum,i)==“USE").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/East’

  ELSE IF ((stor(gennum,i)==“USE").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=1

babylure(1,3,I)=1

    stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/Southeast’

  ELSE IF ((stor(gennum,i)==“USE").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

  ELSE IF ((stor(gennum,i)==“USE").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/East’

  ELSE IF ((stor(gennum,i)==“USE").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/Southeast’

  ELSE IF ((stor(gennum,i)==“USE").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

  ELSE IF ((stor(gennum,i)==“USE").and.((stor(gennum+1,i)=="S"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

  ELSE IF ((stor(gennum,i)==“USE").and.((stor(gennum+1,i)=="E"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=1

    stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/East’

  ELSE IF ((stor(gennum,i)==“USE").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast’

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Southeast'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Southeast'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Southeast'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Southeast’

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,' Move ',i,’ South'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,' Move ',i,’ South'

ELSE IF ((stor(gennum,i)==“USE”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP”

   PRINT *,'Lure ',babynum,' Move ',i,’ Stays Put'

 ENDIF



  IF ((stor(gennum,i)==“USW").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“USW").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=-1

babylure(1,3,I)=1

    stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Up/Southwest’

  ELSE IF ((stor(gennum,i)==“USW").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

  ELSE IF ((stor(gennum,i)==“USW").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

  ELSE IF ((stor(gennum,i)==“USW").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Up/Southwest’

  ELSE IF ((stor(gennum,i)==“USW").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“USW").and.((stor(gennum+1,i)=="S"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

  ELSE IF ((stor(gennum,i)==“USW").and.((stor(gennum+1,i)=="W"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=1

    stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“USW").and.((stor(gennum+1,i)=="NE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest'

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South'

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest’

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest'

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest'

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ West’

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“USW”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ West’

 ENDIF



  IF ((stor(gennum,i)==“UNW").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Up/North’

  ELSE IF ((stor(gennum,i)==“UNW").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=-1

babylure(1,3,I)=1

    stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

  ELSE IF ((stor(gennum,i)==“UNW").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“UNW").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Up/North’

  ELSE IF ((stor(gennum,i)==“UNW").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“UNW").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

  ELSE IF ((stor(gennum,i)==“UNW").and.((stor(gennum+1,i)=="N"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="UN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Up/North’

  ELSE IF ((stor(gennum,i)==“UNW").and.((stor(gennum+1,i)=="W"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=1

    stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“UNW").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West’

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest’

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest’

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ North’

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ North’

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ West’

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ West’

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest’

ELSE IF ((stor(gennum,i)==“UNW”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest’

 ENDIF



  IF ((stor(gennum,i)==“U").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Up/North’

  ELSE IF ((stor(gennum,i)==“U").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

  ELSE IF ((stor(gennum,i)==“U").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/East’

  ELSE IF ((stor(gennum,i)==“U").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/South’

  ELSE IF ((stor(gennum,i)==“U").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

  ELSE IF ((stor(gennum,i)==“U").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=-1

babylure(1,3,I)=1

    stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

  ELSE IF ((stor(gennum,i)==“U").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=-1

babylure(1,3,I)=1

    stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Up/Southwest’

  ELSE IF ((stor(gennum,i)==“U").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=1

babylure(1,3,I)=1

    stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Up/Southeast’

  ELSE IF ((stor(gennum,i)==“U").and.((stor(gennum+1,i)=="SP"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=1

    stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="U"

   PRINT *,'Lure ',babynum,' Move ',i,' Up'

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="UN"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/North'

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UNE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northeast'

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="UE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/East'

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=1

   stor(babynum,i)="USE"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southeast'

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=1

   stor(babynum,i)="US"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/South’

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="USW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Southwest'

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/West'

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=1

   stor(babynum,i)="UNW"

   PRINT *,'Lure ',babynum,' Move ',i,' Up/Northwest'

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Stays Put’

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ North’

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“NE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Northeast’

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southeast'

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ South’

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ West’

ELSE IF ((stor(gennum,i)==“U”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest’

 ENDIF



!FINISH fixing Ups to Downs, 1s to -1s, U’s to D’s ,etc.



IF ((stor(gennum,i)==“DN").and.(stor(gennum+1,i)=="N")) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

    babylure(1,3,I)=-1

    stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="S")))THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

    babylure(1,3,I)=-1

    stor(babynum,i)="D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="NE"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="NE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northeast'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Stays Put’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ West'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)="NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/Northeast’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DS"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="D"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ENDIF



  IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)="DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)="DSW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest’

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)="DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)="DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="N"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)="D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/South’

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="D"

   PRINT *,'Lure ',babynum,' Move ',i,' Down’

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE”

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DSE"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/Southeast'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/South'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/South’

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/South'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DSW"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/Southwest’

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ENDIF





  IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)="DNE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="W"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="NE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“NE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northeast'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southeast’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/Northeast’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

 ENDIF



  IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest’

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="E"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ West'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ West'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ West'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ West'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southwest’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

  ENDIF



  IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DNE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DNE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="N"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="E"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“NE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northeast'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“NE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northeast'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/Northeast’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNE”

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/Northeast’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DS"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D”

   PRINT *,'Lure ',babynum,' Move ',i,' Down'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

 ENDIF



  IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="S"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="E"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southeast'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southeast'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southeast'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southeast’

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/Southeast’

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ',i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D”

   PRINT *,'Lure ',babynum,' Move ',i,’ Down'

 ENDIF



  IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest’

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest’

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="S"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="W"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="NE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southwest'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ West'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southwest'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southwest'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ West'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southwest’

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southwest’

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southwest’

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southwest’

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

 ENDIF



  IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="N"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="W"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ West’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ West'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

 ENDIF



  IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DNE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest’

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="SP"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“NE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northeast'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southeast'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ South’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southwest'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ West'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/Northeast’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/South’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/Southwest’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

 ENDIF



 lure(m,1,i)=babylure(1,1,i)

 lure(m,2,i)=babylure(1,2,i)

 lure(m,3,i)=babylure(1,3,i)



!insert call fitness unit (fix fitness to check every position against each previous one)



 call waitasec(waitcount)

ENDDO



END SUBROUTINE



SUBROUTINE outputfiles (stor,lure)

IMPLICIT none

 INTEGER::j,i,lure(31,2,200)

 CHARACTER::stor(31,200)*2



DO i=1,31

IF (i==1) THEN

OPEN (UNIT=1, FILE="lures1_2_3_4.dat")

DO j=1,200

IF (stor(i,j)=="N") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' North'

     ELSE IF (stor(i,j)=="E") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' East'

     ELSE IF (stor(i,j)=="S") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' South'

     ELSE IF (stor(i,j)=="W") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' West'

     ELSE IF (stor(i,j)=="NE") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Northeast'

     ELSE IF (stor(i,j)=="SE") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Southeast'

     ELSE IF (stor(i,j)=="SW") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Southwest'

     ELSE IF (stor(i,j)=="NW") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Northwest'

      ELSE IF (stor(i,j)=="UN") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Up/North'

     ELSE IF (stor(i,j)=="UE") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Up/East'

     ELSE IF (stor(i,j)=="US") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Up/South'

     ELSE IF (stor(i,j)=="UW") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Up/West'

     ELSE IF (stor(i,j)=="UNE") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Up/Northeast'

     ELSE IF (stor(i,j)=="USE") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Up/Southeast'

     ELSE IF (stor(i,j)=="USW") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Up/Southwest'

     ELSE IF (stor(i,j)=="UNW") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Up/Northwest'

     ELSE IF (stor(i,j)=="DN") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Down/North'

     ELSE IF (stor(i,j)=="DE") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Down/East'

     ELSE IF (stor(i,j)=="DS") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Down/South'

     ELSE IF (stor(i,j)=="DW") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Down/West'

     ELSE IF (stor(i,j)=="DNE") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Down/Northeast'

     ELSE IF (stor(i,j)=="DSE") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Down/Southeast'

     ELSE IF (stor(i,j)=="DSW") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Down/Southwest'

     ELSE IF (stor(i,j)=="DNW") THEN

      WRITE (1,*) 'Lure 1, Move ',j,' Down/Northwest'

     ELSE IF (stor(i,j)==”U”) THEN

      WRITE (1,*) ‘Lure 1, Move ‘,j,’ Up’

     ELSE IF (stor(i,j)==”D”) THEN

      WRITE (1,*) ‘Lure 1, Move ‘,j,’ Down’

     ELSE IF (stor(i,j)==”SP”) THEN

      WRITE (1,*) ‘Lure 1, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+1,j)=="N") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' North'

     ELSE IF (stor(i+1,j)=="E") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' East'

     ELSE IF (stor(i+1,j)=="S") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' South'

     ELSE IF (stor(i+1,j)=="W") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' West'

     ELSE IF (stor(i+1,j)=="NE") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Northeast'

     ELSE IF (stor(i+1,j)=="SE") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Southeast'

     ELSE IF (stor(i+1,j)=="SW") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Southwest'

     ELSE IF (stor(i+1,j)=="NW") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Northwest'

      ELSE IF (stor(i+1,j)=="UN") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Up/North'

     ELSE IF (stor(i+1,j)=="UE") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Up/East'

     ELSE IF (stor(i+1,j)=="US") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Up/South'

     ELSE IF (stor(i+1,j)=="UW") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Up/West'

     ELSE IF (stor(i+1,j)=="UNE") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+1,j)=="USE") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+1,j)=="USW") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+1,j)=="UNW") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+1,j)=="DN") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Down/North'

     ELSE IF (stor(i+1,j)=="DE") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Down/East'

     ELSE IF (stor(i+1,j)=="DS") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Down/South'

     ELSE IF (stor(i+1,j)=="DW") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Down/West'

     ELSE IF (stor(i+1,j)=="DNE") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+1,j)=="DSE") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+1,j)=="DSW") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+1,j)=="DNW") THEN

      WRITE (1,*) ‘Lure 2, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+1,j)==”U”) THEN

      WRITE (1,*) ‘Lure 2, Move ‘,j,’ Up’

     ELSE IF (stor(i+1,j)==”D”) THEN

      WRITE (1,*) ‘Lure 2, Move ‘,j,’ Down’

     ELSE IF (stor(i+1,j)==”SP”) THEN

      WRITE (1,*) ‘Lure 2, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+2,j)=="N") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' North'

     ELSE IF (stor(i+2,j)=="E") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' East'

     ELSE IF (stor(i+2,j)=="S") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' South'

     ELSE IF (stor(i+2,j)=="W") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' West'

     ELSE IF (stor(i+2,j)=="NE") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Northeast'

     ELSE IF (stor(i+2,j)=="SE") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Southeast'

     ELSE IF (stor(i+2,j)=="SW") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Southwest'

     ELSE IF (stor(i+2,j)=="NW") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Northwest'

      ELSE IF (stor(i+2,j)=="UN") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Up/North'

     ELSE IF (stor(i+2,j)=="UE") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Up/East'

     ELSE IF (stor(i+2,j)=="US") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Up/South'

     ELSE IF (stor(i+2,j)=="UW") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Up/West'

     ELSE IF (stor(i+2,j)=="UNE") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+2,j)=="USE") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+2,j)=="USW") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+2,j)=="UNW") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+2,j)=="DN") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Down/North'

     ELSE IF (stor(i+2,j)=="DE") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Down/East'

     ELSE IF (stor(i+2,j)=="DS") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Down/South'

     ELSE IF (stor(i+2,j)=="DW") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Down/West'

     ELSE IF (stor(i+2,j)=="DNE") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+2,j)=="DSE") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+2,j)=="DSW") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+2,j)=="DNW") THEN

      WRITE (1,*) ‘Lure 3, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+2,j)==”U”) THEN

      WRITE (1,*) ‘Lure 3, Move ‘,j,’ Up’

     ELSE IF (stor(i+2,j)==”D”) THEN

      WRITE (1,*) ‘Lure 3, Move ‘,j,’ Down’

     ELSE IF (stor(i+2,j)==”SP”) THEN

      WRITE (1,*) ‘Lure 3, Move ‘,j,’ Stays Put’

ENDDO

DO j=,200

IF (stor(i+3,j)=="N") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' North'

     ELSE IF (stor(i+3,j)=="E") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' East'

     ELSE IF (stor(i+3,j)=="S") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' South'

     ELSE IF (stor(i+3,j)=="W") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' West'

     ELSE IF (stor(i+3,j)=="NE") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Northeast'

     ELSE IF (stor(i+3,j)=="SE") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Southeast'

     ELSE IF (stor(i+3,j)=="SW") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Southwest'

     ELSE IF (stor(i+3,j)=="NW") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Northwest'

      ELSE IF (stor(i+3,j)=="UN") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Up/North'

     ELSE IF (stor(i+3,j)=="UE") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Up/East'

     ELSE IF (stor(i+3,j)=="US") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Up/South'

     ELSE IF (stor(i+3,j)=="UW") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Up/West'

     ELSE IF (stor(i+3,j)=="UNE") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+3,j)=="USE") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+3,j)=="USW") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+3,j)=="UNW") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+3,j)=="DN") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Down/North'

     ELSE IF (stor(i+3,j)=="DE") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Down/East'

     ELSE IF (stor(i+3,j)=="DS") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Down/South'

     ELSE IF (stor(i+3,j)=="DW") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Down/West'

     ELSE IF (stor(i+3,j)=="DNE") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+3,j)=="DSE") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+3,j)=="DSW") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+3,j)=="DNW") THEN

      WRITE (1,*) ‘Lure 4, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+3,j)==”U”) THEN

      WRITE (1,*) ‘Lure 4, Move ‘,j,’ Up’

     ELSE IF (stor(i+3,j)==”D”) THEN

      WRITE (1,*) ‘Lure 4, Move ‘,j,’ Down’

     ELSE IF (stor(i+3,j)==”SP”) THEN

      WRITE (1,*) ‘Lure 4, Move ‘,j,’ Stays Put’

ENDDO

CLOSE (UNIT=1)



ELSE IF (i==5) THEN

OPEN (UNIT=2, FILE="lures5_6_7_8.dat")

DO j=1,200

IF (stor(i,j)=="N") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' North'

     ELSE IF (stor(i,j)=="E") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' East'

     ELSE IF (stor(i,j)=="S") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' South'

     ELSE IF (stor(i,j)=="W") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' West'

     ELSE IF (stor(i,j)=="NE") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Northeast'

     ELSE IF (stor(i,j)=="SE") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Southeast'

     ELSE IF (stor(i,j)=="SW") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Southwest'

     ELSE IF (stor(i,j)=="NW") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Northwest'

      ELSE IF (stor(i,j)=="UN") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Up/North'

     ELSE IF (stor(i,j)=="UE") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Up/East'

     ELSE IF (stor(i,j)=="US") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Up/South'

     ELSE IF (stor(i,j)=="UW") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Up/West'

     ELSE IF (stor(i,j)=="UNE") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Up/Northeast'

     ELSE IF (stor(i,j)=="USE") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Up/Southeast'

     ELSE IF (stor(i,j)=="USW") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Up/Southwest'

     ELSE IF (stor(i,j)=="UNW") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Up/Northwest'

     ELSE IF (stor(i,j)=="DN") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Down/North'

     ELSE IF (stor(i,j)=="DE") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Down/East'

     ELSE IF (stor(i,j)=="DS") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Down/South'

     ELSE IF (stor(i,j)=="DW") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Down/West'

     ELSE IF (stor(i,j)=="DNE") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Down/Northeast'

     ELSE IF (stor(i,j)=="DSE") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Down/Southeast'

     ELSE IF (stor(i,j)=="DSW") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Down/Southwest'

     ELSE IF (stor(i,j)=="DNW") THEN

      WRITE (2,*) ‘Lure 5, Move ',j,' Down/Northwest'

     ELSE IF (stor(i,j)==”U”) THEN

      WRITE (2,*) ‘Lure 5, Move ‘,j,’ Up’

     ELSE IF (stor(i,j)==”D”) THEN

      WRITE (2,*) ‘Lure 5, Move ‘,j,’ Down’

     ELSE IF (stor(i,j)==”SP”) THEN

      WRITE (2,*) ‘Lure 5, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+1,j)=="N") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' North'

     ELSE IF (stor(i+1,j)=="E") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' East'

     ELSE IF (stor(i+1,j)=="S") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' South'

     ELSE IF (stor(i+1,j)=="W") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' West'

     ELSE IF (stor(i+1,j)=="NE") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Northeast'

     ELSE IF (stor(i+1,j)=="SE") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Southeast'

     ELSE IF (stor(i+1,j)=="SW") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Southwest'

     ELSE IF (stor(i+1,j)=="NW") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Northwest'

      ELSE IF (stor(i+1,j)=="UN") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Up/North'

     ELSE IF (stor(i+1,j)=="UE") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Up/East'

     ELSE IF (stor(i+1,j)=="US") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Up/South'

     ELSE IF (stor(i+1,j)=="UW") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Up/West'

     ELSE IF (stor(i+1,j)=="UNE") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+1,j)=="USE") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+1,j)=="USW") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+1,j)=="UNW") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+1,j)=="DN") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Down/North'

     ELSE IF (stor(i+1,j)=="DE") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Down/East'

     ELSE IF (stor(i+1,j)=="DS") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Down/South'

     ELSE IF (stor(i+1,j)=="DW") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Down/West'

     ELSE IF (stor(i+1,j)=="DNE") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+1,j)=="DSE") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+1,j)=="DSW") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+1,j)=="DNW") THEN

      WRITE (2,*) ‘Lure 6, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+1,j)==”U”) THEN

      WRITE (2,*) ‘Lure 6, Move ‘,j,’ Up’

     ELSE IF (stor(i+1,j)==”D”) THEN

      WRITE (2,*) ‘Lure 6, Move ‘,j,’ Down’

     ELSE IF (stor(i+1,j)==”SP”) THEN

      WRITE (2,*) ‘Lure 6, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+2,j)=="N") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' North'

     ELSE IF (stor(i+2,j)=="E") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' East'

     ELSE IF (stor(i+2,j)=="S") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' South'

     ELSE IF (stor(i+2,j)=="W") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' West'

     ELSE IF (stor(i+2,j)=="NE") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Northeast'

     ELSE IF (stor(i+2,j)=="SE") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Southeast'

     ELSE IF (stor(i+2,j)=="SW") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Southwest'

     ELSE IF (stor(i+2,j)=="NW") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Northwest'

      ELSE IF (stor(i+2,j)=="UN") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Up/North'

     ELSE IF (stor(i+2,j)=="UE") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Up/East'

     ELSE IF (stor(i+2,j)=="US") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Up/South'

     ELSE IF (stor(i+2,j)=="UW") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Up/West'

     ELSE IF (stor(i+2,j)=="UNE") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+2,j)=="USE") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+2,j)=="USW") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+2,j)=="UNW") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+2,j)=="DN") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Down/North'

     ELSE IF (stor(i+2,j)=="DE") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Down/East'

     ELSE IF (stor(i+2,j)=="DS") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Down/South'

     ELSE IF (stor(i+2,j)=="DW") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Down/West'

     ELSE IF (stor(i+2,j)=="DNE") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+2,j)=="DSE") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+2,j)=="DSW") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+2,j)=="DNW") THEN

      WRITE (2,*) ‘Lure 7, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+2,j)==”U”) THEN

      WRITE (2,*) ‘Lure 7, Move ‘,j,’ Up’

     ELSE IF (stor(i+2,j)==”D”) THEN

      WRITE (2,*) ‘Lure 7, Move ‘,j,’ Down’

     ELSE IF (stor(i+2,j)==”SP”) THEN

      WRITE (2,*) ‘Lure 7, Move ‘,j,’ Stays Put’

ENDDO

DO j=,200

IF (stor(i+3,j)=="N") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' North'

     ELSE IF (stor(i+3,j)=="E") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' East'

     ELSE IF (stor(i+3,j)=="S") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' South'

     ELSE IF (stor(i+3,j)=="W") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' West'

     ELSE IF (stor(i+3,j)=="NE") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Northeast'

     ELSE IF (stor(i+3,j)=="SE") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Southeast'

     ELSE IF (stor(i+3,j)=="SW") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Southwest'

     ELSE IF (stor(i+3,j)=="NW") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Northwest'

      ELSE IF (stor(i+3,j)=="UN") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Up/North'

     ELSE IF (stor(i+3,j)=="UE") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Up/East'

     ELSE IF (stor(i+3,j)=="US") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Up/South'

     ELSE IF (stor(i+3,j)=="UW") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Up/West'

     ELSE IF (stor(i+3,j)=="UNE") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+3,j)=="USE") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+3,j)=="USW") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+3,j)=="UNW") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+3,j)=="DN") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Down/North'

     ELSE IF (stor(i+3,j)=="DE") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Down/East'

     ELSE IF (stor(i+3,j)=="DS") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Down/South'

     ELSE IF (stor(i+3,j)=="DW") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Down/West'

     ELSE IF (stor(i+3,j)=="DNE") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+3,j)=="DSE") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+3,j)=="DSW") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+3,j)=="DNW") THEN

      WRITE (2,*) ‘Lure 8, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+3,j)==”U”) THEN

      WRITE (2,*) ‘Lure 8, Move ‘,j,’ Up’

     ELSE IF (stor(i+3,j)==”D”) THEN

      WRITE (2,*) ‘Lure 8, Move ‘,j,’ Down’

     ELSE IF (stor(i+3,j)==”SP”) THEN

      WRITE (2,*) ‘Lure 8, Move ‘,j,’ Stays Put’

ENDDO

CLOSE (UNIT=2)



ELSE IF (i==9) THEN

OPEN (UNIT=3, FILE="lures9_10_11_12.dat")

DO j=1,200

IF (stor(i,j)=="N") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' North'

     ELSE IF (stor(i,j)=="E") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' East'

     ELSE IF (stor(i,j)=="S") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' South'

     ELSE IF (stor(i,j)=="W") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' West'

     ELSE IF (stor(i,j)=="NE") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Northeast'

     ELSE IF (stor(i,j)=="SE") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Southeast'

     ELSE IF (stor(i,j)=="SW") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Southwest'

     ELSE IF (stor(i,j)=="NW") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Northwest'

      ELSE IF (stor(i,j)=="UN") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Up/North'

     ELSE IF (stor(i,j)=="UE") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Up/East'

     ELSE IF (stor(i,j)=="US") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Up/South'

     ELSE IF (stor(i,j)=="UW") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Up/West'

     ELSE IF (stor(i,j)=="UNE") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Up/Northeast'

     ELSE IF (stor(i,j)=="USE") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Up/Southeast'

     ELSE IF (stor(i,j)=="USW") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Up/Southwest'

     ELSE IF (stor(i,j)=="UNW") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Up/Northwest'

     ELSE IF (stor(i,j)=="DN") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Down/North'

     ELSE IF (stor(i,j)=="DE") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Down/East'

     ELSE IF (stor(i,j)=="DS") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Down/South'

     ELSE IF (stor(i,j)=="DW") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Down/West'

     ELSE IF (stor(i,j)=="DNE") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Down/Northeast'

     ELSE IF (stor(i,j)=="DSE") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Down/Southeast'

     ELSE IF (stor(i,j)=="DSW") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Down/Southwest'

     ELSE IF (stor(i,j)=="DNW") THEN

      WRITE (3,*) ‘Lure 9, Move ',j,' Down/Northwest'

     ELSE IF (stor(i,j)==”U”) THEN

      WRITE (3,*) ‘Lure 9, Move ‘,j,’ Up’

     ELSE IF (stor(i,j)==”D”) THEN

      WRITE (3,*) ‘Lure 9, Move ‘,j,’ Down’

     ELSE IF (stor(i,j)==”SP”) THEN

      WRITE (3,*) ‘Lure 9, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+1,j)=="N") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' North'

     ELSE IF (stor(i+1,j)=="E") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' East'

     ELSE IF (stor(i+1,j)=="S") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' South'

     ELSE IF (stor(i+1,j)=="W") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' West'

     ELSE IF (stor(i+1,j)=="NE") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Northeast'

     ELSE IF (stor(i+1,j)=="SE") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Southeast'

     ELSE IF (stor(i+1,j)=="SW") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Southwest'

     ELSE IF (stor(i+1,j)=="NW") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Northwest'

      ELSE IF (stor(i+1,j)=="UN") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Up/North'

     ELSE IF (stor(i+1,j)=="UE") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Up/East'

     ELSE IF (stor(i+1,j)=="US") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Up/South'

     ELSE IF (stor(i+1,j)=="UW") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Up/West'

     ELSE IF (stor(i+1,j)=="UNE") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+1,j)=="USE") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+1,j)=="USW") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+1,j)=="UNW") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+1,j)=="DN") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Down/North'

     ELSE IF (stor(i+1,j)=="DE") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Down/East'

     ELSE IF (stor(i+1,j)=="DS") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Down/South'

     ELSE IF (stor(i+1,j)=="DW") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Down/West'

     ELSE IF (stor(i+1,j)=="DNE") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+1,j)=="DSE") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+1,j)=="DSW") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+1,j)=="DNW") THEN

      WRITE (3,*) ‘Lure 10, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+1,j)==”U”) THEN

      WRITE (3,*) ‘Lure 10, Move ‘,j,’ Up’

     ELSE IF (stor(i+1,j)==”D”) THEN

      WRITE (3,*) ‘Lure 10, Move ‘,j,’ Down’

     ELSE IF (stor(i+1,j)==”SP”) THEN

      WRITE (3,*) ‘Lure 10, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+2,j)=="N") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' North'

     ELSE IF (stor(i+2,j)=="E") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' East'

     ELSE IF (stor(i+2,j)=="S") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' South'

     ELSE IF (stor(i+2,j)=="W") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' West'

     ELSE IF (stor(i+2,j)=="NE") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Northeast'

     ELSE IF (stor(i+2,j)=="SE") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Southeast'

     ELSE IF (stor(i+2,j)=="SW") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Southwest'

     ELSE IF (stor(i+2,j)=="NW") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Northwest'

      ELSE IF (stor(i+2,j)=="UN") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Up/North'

     ELSE IF (stor(i+2,j)=="UE") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Up/East'

     ELSE IF (stor(i+2,j)=="US") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Up/South'

     ELSE IF (stor(i+2,j)=="UW") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Up/West'

     ELSE IF (stor(i+2,j)=="UNE") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+2,j)=="USE") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+2,j)=="USW") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+2,j)=="UNW") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+2,j)=="DN") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Down/North'

     ELSE IF (stor(i+2,j)=="DE") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Down/East'

     ELSE IF (stor(i+2,j)=="DS") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Down/South'

     ELSE IF (stor(i+2,j)=="DW") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Down/West'

     ELSE IF (stor(i+2,j)=="DNE") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+2,j)=="DSE") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+2,j)=="DSW") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+2,j)=="DNW") THEN

      WRITE (3,*) ‘Lure 11, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+2,j)==”U”) THEN

      WRITE (3,*) ‘Lure 11, Move ‘,j,’ Up’

     ELSE IF (stor(i+2,j)==”D”) THEN

      WRITE (3,*) ‘Lure 11, Move ‘,j,’ Down’

     ELSE IF (stor(i+2,j)==”SP”) THEN

      WRITE (3,*) ‘Lure 11, Move ‘,j,’ Stays Put’

ENDDO

DO j=,200

IF (stor(i+3,j)=="N") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' North'

     ELSE IF (stor(i+3,j)=="E") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' East'

     ELSE IF (stor(i+3,j)=="S") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' South'

     ELSE IF (stor(i+3,j)=="W") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' West'

     ELSE IF (stor(i+3,j)=="NE") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Northeast'

     ELSE IF (stor(i+3,j)=="SE") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Southeast'

     ELSE IF (stor(i+3,j)=="SW") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Southwest'

     ELSE IF (stor(i+3,j)=="NW") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Northwest'

      ELSE IF (stor(i+3,j)=="UN") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Up/North'

     ELSE IF (stor(i+3,j)=="UE") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Up/East'

     ELSE IF (stor(i+3,j)=="US") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Up/South'

     ELSE IF (stor(i+3,j)=="UW") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Up/West'

     ELSE IF (stor(i+3,j)=="UNE") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+3,j)=="USE") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+3,j)=="USW") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+3,j)=="UNW") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+3,j)=="DN") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Down/North'

     ELSE IF (stor(i+3,j)=="DE") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Down/East'

     ELSE IF (stor(i+3,j)=="DS") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Down/South'

     ELSE IF (stor(i+3,j)=="DW") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Down/West'

     ELSE IF (stor(i+3,j)=="DNE") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+3,j)=="DSE") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+3,j)=="DSW") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+3,j)=="DNW") THEN

      WRITE (3,*) ‘Lure 12, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+3,j)==”U”) THEN

      WRITE (3,*) ‘Lure 12, Move ‘,j,’ Up’

     ELSE IF (stor(i+3,j)==”D”) THEN

      WRITE (3,*) ‘Lure 12, Move ‘,j,’ Down’

     ELSE IF (stor(i+3,j)==”SP”) THEN

      WRITE (3,*) ‘Lure 12, Move ‘,j,’ Stays Put’

ENDDO

CLOSE (UNIT=3)



ELSE IF (i==13) THEN

OPEN (UNIT=4, FILE="lures13_14_15_16.dat")

DO j=1,200

IF (stor(i,j)=="N") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' North'

     ELSE IF (stor(i,j)=="E") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' East'

     ELSE IF (stor(i,j)=="S") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' South'

     ELSE IF (stor(i,j)=="W") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' West'

     ELSE IF (stor(i,j)=="NE") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Northeast'

     ELSE IF (stor(i,j)=="SE") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Southeast'

     ELSE IF (stor(i,j)=="SW") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Southwest'

     ELSE IF (stor(i,j)=="NW") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Northwest'

      ELSE IF (stor(i,j)=="UN") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Up/North'

     ELSE IF (stor(i,j)=="UE") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Up/East'

     ELSE IF (stor(i,j)=="US") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Up/South'

     ELSE IF (stor(i,j)=="UW") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Up/West'

     ELSE IF (stor(i,j)=="UNE") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Up/Northeast'

     ELSE IF (stor(i,j)=="USE") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Up/Southeast'

     ELSE IF (stor(i,j)=="USW") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Up/Southwest'

     ELSE IF (stor(i,j)=="UNW") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Up/Northwest'

     ELSE IF (stor(i,j)=="DN") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Down/North'

     ELSE IF (stor(i,j)=="DE") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Down/East'

     ELSE IF (stor(i,j)=="DS") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Down/South'

     ELSE IF (stor(i,j)=="DW") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Down/West'

     ELSE IF (stor(i,j)=="DNE") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Down/Northeast'

     ELSE IF (stor(i,j)=="DSE") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Down/Southeast'

     ELSE IF (stor(i,j)=="DSW") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Down/Southwest'

     ELSE IF (stor(i,j)=="DNW") THEN

      WRITE (4,*) ‘Lure 13, Move ',j,' Down/Northwest'

     ELSE IF (stor(i,j)==”U”) THEN

      WRITE (4,*) ‘Lure 13, Move ‘,j,’ Up’

     ELSE IF (stor(i,j)==”D”) THEN

      WRITE (4,*) ‘Lure 13, Move ‘,j,’ Down’

     ELSE IF (stor(i,j)==”SP”) THEN

      WRITE (4,*) ‘Lure 13, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+1,j)=="N") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' North'

     ELSE IF (stor(i+1,j)=="E") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' East'

     ELSE IF (stor(i+1,j)=="S") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' South'

     ELSE IF (stor(i+1,j)=="W") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' West'

     ELSE IF (stor(i+1,j)=="NE") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Northeast'

     ELSE IF (stor(i+1,j)=="SE") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Southeast'

     ELSE IF (stor(i+1,j)=="SW") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Southwest'

     ELSE IF (stor(i+1,j)=="NW") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Northwest'

      ELSE IF (stor(i+1,j)=="UN") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Up/North'

     ELSE IF (stor(i+1,j)=="UE") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Up/East'

     ELSE IF (stor(i+1,j)=="US") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Up/South'

     ELSE IF (stor(i+1,j)=="UW") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Up/West'

     ELSE IF (stor(i+1,j)=="UNE") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+1,j)=="USE") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+1,j)=="USW") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+1,j)=="UNW") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+1,j)=="DN") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Down/North'

     ELSE IF (stor(i+1,j)=="DE") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Down/East'

     ELSE IF (stor(i+1,j)=="DS") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Down/South'

     ELSE IF (stor(i+1,j)=="DW") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Down/West'

     ELSE IF (stor(i+1,j)=="DNE") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+1,j)=="DSE") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+1,j)=="DSW") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+1,j)=="DNW") THEN

      WRITE (4,*) ‘Lure 14, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+1,j)==”U”) THEN

      WRITE (4,*) ‘Lure 14, Move ‘,j,’ Up’

     ELSE IF (stor(i+1,j)==”D”) THEN

      WRITE (4,*) ‘Lure 14, Move ‘,j,’ Down’

     ELSE IF (stor(i+1,j)==”SP”) THEN

      WRITE (4,*) ‘Lure 14, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+2,j)=="N") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' North'

     ELSE IF (stor(i+2,j)=="E") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' East'

     ELSE IF (stor(i+2,j)=="S") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' South'

     ELSE IF (stor(i+2,j)=="W") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' West'

     ELSE IF (stor(i+2,j)=="NE") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Northeast'

     ELSE IF (stor(i+2,j)=="SE") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Southeast'

     ELSE IF (stor(i+2,j)=="SW") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Southwest'

     ELSE IF (stor(i+2,j)=="NW") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Northwest'

      ELSE IF (stor(i+2,j)=="UN") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Up/North'

     ELSE IF (stor(i+2,j)=="UE") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Up/East'

     ELSE IF (stor(i+2,j)=="US") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Up/South'

     ELSE IF (stor(i+2,j)=="UW") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Up/West'

     ELSE IF (stor(i+2,j)=="UNE") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+2,j)=="USE") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+2,j)=="USW") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+2,j)=="UNW") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+2,j)=="DN") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Down/North'

     ELSE IF (stor(i+2,j)=="DE") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Down/East'

     ELSE IF (stor(i+2,j)=="DS") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Down/South'

     ELSE IF (stor(i+2,j)=="DW") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Down/West'

     ELSE IF (stor(i+2,j)=="DNE") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+2,j)=="DSE") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+2,j)=="DSW") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+2,j)=="DNW") THEN

      WRITE (4,*) ‘Lure 15, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+2,j)==”U”) THEN

      WRITE (4,*) ‘Lure 15, Move ‘,j,’ Up’

     ELSE IF (stor(i+2,j)==”D”) THEN

      WRITE (4,*) ‘Lure 15, Move ‘,j,’ Down’

     ELSE IF (stor(i+2,j)==”SP”) THEN

      WRITE (4,*) ‘Lure 15, Move ‘,j,’ Stays Put’

ENDDO

DO j=,200

IF (stor(i+3,j)=="N") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' North'

     ELSE IF (stor(i+3,j)=="E") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' East'

     ELSE IF (stor(i+3,j)=="S") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' South'

     ELSE IF (stor(i+3,j)=="W") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' West'

     ELSE IF (stor(i+3,j)=="NE") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Northeast'

     ELSE IF (stor(i+3,j)=="SE") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Southeast'

     ELSE IF (stor(i+3,j)=="SW") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Southwest'

     ELSE IF (stor(i+3,j)=="NW") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Northwest'

      ELSE IF (stor(i+3,j)=="UN") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Up/North'

     ELSE IF (stor(i+3,j)=="UE") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Up/East'

     ELSE IF (stor(i+3,j)=="US") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Up/South'

     ELSE IF (stor(i+3,j)=="UW") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Up/West'

     ELSE IF (stor(i+3,j)=="UNE") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+3,j)=="USE") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+3,j)=="USW") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+3,j)=="UNW") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+3,j)=="DN") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Down/North'

     ELSE IF (stor(i+3,j)=="DE") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Down/East'

     ELSE IF (stor(i+3,j)=="DS") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Down/South'

     ELSE IF (stor(i+3,j)=="DW") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Down/West'

     ELSE IF (stor(i+3,j)=="DNE") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+3,j)=="DSE") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+3,j)=="DSW") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+3,j)=="DNW") THEN

      WRITE (4,*) ‘Lure 16, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+3,j)==”U”) THEN

      WRITE (4,*) ‘Lure 16, Move ‘,j,’ Up’

     ELSE IF (stor(i+3,j)==”D”) THEN

      WRITE (4,*) ‘Lure 16, Move ‘,j,’ Down’

     ELSE IF (stor(i+3,j)==”SP”) THEN

      WRITE (4,*) ‘Lure 16, Move ‘,j,’ Stays Put’

ENDDO

CLOSE (UNIT=4)



ELSE IF (i==17) THEN

OPEN (UNIT=5, FILE="lures17_18_19_20.dat")

DO j=1,200

IF (stor(i,j)=="N") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' North'

     ELSE IF (stor(i,j)=="E") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' East'

     ELSE IF (stor(i,j)=="S") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' South'

     ELSE IF (stor(i,j)=="W") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' West'

     ELSE IF (stor(i,j)=="NE") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Northeast'

     ELSE IF (stor(i,j)=="SE") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Southeast'

     ELSE IF (stor(i,j)=="SW") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Southwest'

     ELSE IF (stor(i,j)=="NW") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Northwest'

      ELSE IF (stor(i,j)=="UN") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Up/North'

     ELSE IF (stor(i,j)=="UE") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Up/East'

     ELSE IF (stor(i,j)=="US") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Up/South'

     ELSE IF (stor(i,j)=="UW") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Up/West'

     ELSE IF (stor(i,j)=="UNE") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Up/Northeast'

     ELSE IF (stor(i,j)=="USE") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Up/Southeast'

     ELSE IF (stor(i,j)=="USW") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Up/Southwest'

     ELSE IF (stor(i,j)=="UNW") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Up/Northwest'

     ELSE IF (stor(i,j)=="DN") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Down/North'

     ELSE IF (stor(i,j)=="DE") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Down/East'

     ELSE IF (stor(i,j)=="DS") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Down/South'

     ELSE IF (stor(i,j)=="DW") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Down/West'

     ELSE IF (stor(i,j)=="DNE") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Down/Northeast'

     ELSE IF (stor(i,j)=="DSE") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Down/Southeast'

     ELSE IF (stor(i,j)=="DSW") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Down/Southwest'

     ELSE IF (stor(i,j)=="DNW") THEN

      WRITE (5,*) ‘Lure 17, Move ',j,' Down/Northwest'

     ELSE IF (stor(i,j)==”U”) THEN

      WRITE (5,*) ‘Lure 17, Move ‘,j,’ Up’

     ELSE IF (stor(i,j)==”D”) THEN

      WRITE (5,*) ‘Lure 17, Move ‘,j,’ Down’

     ELSE IF (stor(i,j)==”SP”) THEN

      WRITE (5,*) ‘Lure 17, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+1,j)=="N") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' North'

     ELSE IF (stor(i+1,j)=="E") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' East'

     ELSE IF (stor(i+1,j)=="S") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' South'

     ELSE IF (stor(i+1,j)=="W") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' West'

     ELSE IF (stor(i+1,j)=="NE") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Northeast'

     ELSE IF (stor(i+1,j)=="SE") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Southeast'

     ELSE IF (stor(i+1,j)=="SW") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Southwest'

     ELSE IF (stor(i+1,j)=="NW") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Northwest'

      ELSE IF (stor(i+1,j)=="UN") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Up/North'

     ELSE IF (stor(i+1,j)=="UE") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Up/East'

     ELSE IF (stor(i+1,j)=="US") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Up/South'

     ELSE IF (stor(i+1,j)=="UW") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Up/West'

     ELSE IF (stor(i+1,j)=="UNE") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+1,j)=="USE") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+1,j)=="USW") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+1,j)=="UNW") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+1,j)=="DN") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Down/North'

     ELSE IF (stor(i+1,j)=="DE") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Down/East'

     ELSE IF (stor(i+1,j)=="DS") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Down/South'

     ELSE IF (stor(i+1,j)=="DW") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Down/West'

     ELSE IF (stor(i+1,j)=="DNE") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+1,j)=="DSE") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+1,j)=="DSW") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+1,j)=="DNW") THEN

      WRITE (5,*) ‘Lure 18, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+1,j)==”U”) THEN

      WRITE (5,*) ‘Lure 18, Move ‘,j,’ Up’

     ELSE IF (stor(i+1,j)==”D”) THEN

      WRITE (5,*) ‘Lure 18, Move ‘,j,’ Down’

     ELSE IF (stor(i+1,j)==”SP”) THEN

      WRITE (5,*) ‘Lure 18, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+2,j)=="N") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' North'

     ELSE IF (stor(i+2,j)=="E") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' East'

     ELSE IF (stor(i+2,j)=="S") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' South'

     ELSE IF (stor(i+2,j)=="W") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' West'

     ELSE IF (stor(i+2,j)=="NE") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Northeast'

     ELSE IF (stor(i+2,j)=="SE") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Southeast'

     ELSE IF (stor(i+2,j)=="SW") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Southwest'

     ELSE IF (stor(i+2,j)=="NW") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Northwest'

      ELSE IF (stor(i+2,j)=="UN") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Up/North'

     ELSE IF (stor(i+2,j)=="UE") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Up/East'

     ELSE IF (stor(i+2,j)=="US") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Up/South'

     ELSE IF (stor(i+2,j)=="UW") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Up/West'

     ELSE IF (stor(i+2,j)=="UNE") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+2,j)=="USE") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+2,j)=="USW") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+2,j)=="UNW") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+2,j)=="DN") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Down/North'

     ELSE IF (stor(i+2,j)=="DE") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Down/East'

     ELSE IF (stor(i+2,j)=="DS") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Down/South'

     ELSE IF (stor(i+2,j)=="DW") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Down/West'

     ELSE IF (stor(i+2,j)=="DNE") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+2,j)=="DSE") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+2,j)=="DSW") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+2,j)=="DNW") THEN

      WRITE (5,*) ‘Lure 19, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+2,j)==”U”) THEN

      WRITE (5,*) ‘Lure 19, Move ‘,j,’ Up’

     ELSE IF (stor(i+2,j)==”D”) THEN

      WRITE (5,*) ‘Lure 19, Move ‘,j,’ Down’

     ELSE IF (stor(i+2,j)==”SP”) THEN

      WRITE (5,*) ‘Lure 19, Move ‘,j,’ Stays Put’

ENDDO

DO j=,200

IF (stor(i+3,j)=="N") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' North'

     ELSE IF (stor(i+3,j)=="E") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' East'

     ELSE IF (stor(i+3,j)=="S") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' South'

     ELSE IF (stor(i+3,j)=="W") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' West'

     ELSE IF (stor(i+3,j)=="NE") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Northeast'

     ELSE IF (stor(i+3,j)=="SE") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Southeast'

     ELSE IF (stor(i+3,j)=="SW") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Southwest'

     ELSE IF (stor(i+3,j)=="NW") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Northwest'

      ELSE IF (stor(i+3,j)=="UN") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Up/North'

     ELSE IF (stor(i+3,j)=="UE") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Up/East'

     ELSE IF (stor(i+3,j)=="US") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Up/South'

     ELSE IF (stor(i+3,j)=="UW") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Up/West'

     ELSE IF (stor(i+3,j)=="UNE") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+3,j)=="USE") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+3,j)=="USW") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+3,j)=="UNW") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+3,j)=="DN") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Down/North'

     ELSE IF (stor(i+3,j)=="DE") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Down/East'

     ELSE IF (stor(i+3,j)=="DS") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Down/South'

     ELSE IF (stor(i+3,j)=="DW") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Down/West'

     ELSE IF (stor(i+3,j)=="DNE") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+3,j)=="DSE") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+3,j)=="DSW") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+3,j)=="DNW") THEN

      WRITE (5,*) ‘Lure 20, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+3,j)==”U”) THEN

      WRITE (5,*) ‘Lure 20, Move ‘,j,’ Up’

     ELSE IF (stor(i+3,j)==”D”) THEN

      WRITE (5,*) ‘Lure 20, Move ‘,j,’ Down’

     ELSE IF (stor(i+3,j)==”SP”) THEN

      WRITE (5,*) ‘Lure 20, Move ‘,j,’ Stays Put’

ENDDO

CLOSE (UNIT=5)



ELSE IF (i==21) THEN

OPEN (UNIT=6, FILE="lures21_22_23_24.dat")

DO j=1,200

IF (stor(i,j)=="N") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' North'

     ELSE IF (stor(i,j)=="E") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' East'

     ELSE IF (stor(i,j)=="S") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' South'

     ELSE IF (stor(i,j)=="W") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' West'

     ELSE IF (stor(i,j)=="NE") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Northeast'

     ELSE IF (stor(i,j)=="SE") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Southeast'

     ELSE IF (stor(i,j)=="SW") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Southwest'

     ELSE IF (stor(i,j)=="NW") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Northwest'

      ELSE IF (stor(i,j)=="UN") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Up/North'

     ELSE IF (stor(i,j)=="UE") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Up/East'

     ELSE IF (stor(i,j)=="US") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Up/South'

     ELSE IF (stor(i,j)=="UW") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Up/West'

     ELSE IF (stor(i,j)=="UNE") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Up/Northeast'

     ELSE IF (stor(i,j)=="USE") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Up/Southeast'

     ELSE IF (stor(i,j)=="USW") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Up/Southwest'

     ELSE IF (stor(i,j)=="UNW") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Up/Northwest'

     ELSE IF (stor(i,j)=="DN") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Down/North'

     ELSE IF (stor(i,j)=="DE") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Down/East'

     ELSE IF (stor(i,j)=="DS") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Down/South'

     ELSE IF (stor(i,j)=="DW") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Down/West'

     ELSE IF (stor(i,j)=="DNE") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Down/Northeast'

     ELSE IF (stor(i,j)=="DSE") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Down/Southeast'

     ELSE IF (stor(i,j)=="DSW") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Down/Southwest'

     ELSE IF (stor(i,j)=="DNW") THEN

      WRITE (6,*) ‘Lure 21, Move ',j,' Down/Northwest'

     ELSE IF (stor(i,j)==”U”) THEN

      WRITE (6,*) ‘Lure 21, Move ‘,j,’ Up’

     ELSE IF (stor(i,j)==”D”) THEN

      WRITE (6,*) ‘Lure 21, Move ‘,j,’ Down’

     ELSE IF (stor(i,j)==”SP”) THEN

      WRITE (6,*) ‘Lure 21, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+1,j)=="N") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' North'

     ELSE IF (stor(i+1,j)=="E") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' East'

     ELSE IF (stor(i+1,j)=="S") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' South'

     ELSE IF (stor(i+1,j)=="W") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' West'

     ELSE IF (stor(i+1,j)=="NE") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Northeast'

     ELSE IF (stor(i+1,j)=="SE") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Southeast'

     ELSE IF (stor(i+1,j)=="SW") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Southwest'

     ELSE IF (stor(i+1,j)=="NW") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Northwest'

      ELSE IF (stor(i+1,j)=="UN") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Up/North'

     ELSE IF (stor(i+1,j)=="UE") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Up/East'

     ELSE IF (stor(i+1,j)=="US") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Up/South'

     ELSE IF (stor(i+1,j)=="UW") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Up/West'

     ELSE IF (stor(i+1,j)=="UNE") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+1,j)=="USE") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+1,j)=="USW") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+1,j)=="UNW") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+1,j)=="DN") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Down/North'

     ELSE IF (stor(i+1,j)=="DE") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Down/East'

     ELSE IF (stor(i+1,j)=="DS") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Down/South'

     ELSE IF (stor(i+1,j)=="DW") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Down/West'

     ELSE IF (stor(i+1,j)=="DNE") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+1,j)=="DSE") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+1,j)=="DSW") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+1,j)=="DNW") THEN

      WRITE (6,*) ‘Lure 22, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+1,j)==”U”) THEN

      WRITE (6,*) ‘Lure 22, Move ‘,j,’ Up’

     ELSE IF (stor(i+1,j)==”D”) THEN

      WRITE (6,*) ‘Lure 22, Move ‘,j,’ Down’

     ELSE IF (stor(i+1,j)==”SP”) THEN

      WRITE (6,*) ‘Lure 22, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+2,j)=="N") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' North'

     ELSE IF (stor(i+2,j)=="E") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' East'

     ELSE IF (stor(i+2,j)=="S") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' South'

     ELSE IF (stor(i+2,j)=="W") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' West'

     ELSE IF (stor(i+2,j)=="NE") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Northeast'

     ELSE IF (stor(i+2,j)=="SE") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Southeast'

     ELSE IF (stor(i+2,j)=="SW") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Southwest'

     ELSE IF (stor(i+2,j)=="NW") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Northwest'

      ELSE IF (stor(i+2,j)=="UN") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Up/North'

     ELSE IF (stor(i+2,j)=="UE") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Up/East'

     ELSE IF (stor(i+2,j)=="US") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Up/South'

     ELSE IF (stor(i+2,j)=="UW") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Up/West'

     ELSE IF (stor(i+2,j)=="UNE") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+2,j)=="USE") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+2,j)=="USW") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+2,j)=="UNW") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+2,j)=="DN") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Down/North'

     ELSE IF (stor(i+2,j)=="DE") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Down/East'

     ELSE IF (stor(i+2,j)=="DS") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Down/South'

     ELSE IF (stor(i+2,j)=="DW") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Down/West'

     ELSE IF (stor(i+2,j)=="DNE") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+2,j)=="DSE") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+2,j)=="DSW") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+2,j)=="DNW") THEN

      WRITE (6,*) ‘Lure 23, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+2,j)==”U”) THEN

      WRITE (6,*) ‘Lure 23, Move ‘,j,’ Up’

     ELSE IF (stor(i+2,j)==”D”) THEN

      WRITE (6,*) ‘Lure 23, Move ‘,j,’ Down’

     ELSE IF (stor(i+2,j)==”SP”) THEN

      WRITE (6,*) ‘Lure 23, Move ‘,j,’ Stays Put’

ENDDO

DO j=,200

IF (stor(i+3,j)=="N") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' North'

     ELSE IF (stor(i+3,j)=="E") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' East'

     ELSE IF (stor(i+3,j)=="S") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' South'

     ELSE IF (stor(i+3,j)=="W") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' West'

     ELSE IF (stor(i+3,j)=="NE") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Northeast'

     ELSE IF (stor(i+3,j)=="SE") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Southeast'

     ELSE IF (stor(i+3,j)=="SW") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Southwest'

     ELSE IF (stor(i+3,j)=="NW") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Northwest'

      ELSE IF (stor(i+3,j)=="UN") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Up/North'

     ELSE IF (stor(i+3,j)=="UE") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Up/East'

     ELSE IF (stor(i+3,j)=="US") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Up/South'

     ELSE IF (stor(i+3,j)=="UW") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Up/West'

     ELSE IF (stor(i+3,j)=="UNE") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+3,j)=="USE") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+3,j)=="USW") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+3,j)=="UNW") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+3,j)=="DN") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Down/North'

     ELSE IF (stor(i+3,j)=="DE") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Down/East'

     ELSE IF (stor(i+3,j)=="DS") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Down/South'

     ELSE IF (stor(i+3,j)=="DW") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Down/West'

     ELSE IF (stor(i+3,j)=="DNE") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+3,j)=="DSE") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+3,j)=="DSW") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+3,j)=="DNW") THEN

      WRITE (6,*) ‘Lure 24, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+3,j)==”U”) THEN

      WRITE (6,*) ‘Lure 24, Move ‘,j,’ Up’

     ELSE IF (stor(i+3,j)==”D”) THEN

      WRITE (6,*) ‘Lure 24, Move ‘,j,’ Down’

     ELSE IF (stor(i+3,j)==”SP”) THEN

      WRITE (6,*) ‘Lure 24, Move ‘,j,’ Stays Put’

ENDDO

CLOSE (UNIT=6)



ELSE IF (i==25) THEN

OPEN (UNIT=7, FILE="lures25_26_27_28.dat")

DO j=1,200

IF (stor(i,j)=="N") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' North'

     ELSE IF (stor(i,j)=="E") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' East'

     ELSE IF (stor(i,j)=="S") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' South'

     ELSE IF (stor(i,j)=="W") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' West'

     ELSE IF (stor(i,j)=="NE") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Northeast'

     ELSE IF (stor(i,j)=="SE") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Southeast'

     ELSE IF (stor(i,j)=="SW") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Southwest'

     ELSE IF (stor(i,j)=="NW") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Northwest'

      ELSE IF (stor(i,j)=="UN") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Up/North'

     ELSE IF (stor(i,j)=="UE") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Up/East'

     ELSE IF (stor(i,j)=="US") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Up/South'

     ELSE IF (stor(i,j)=="UW") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Up/West'

     ELSE IF (stor(i,j)=="UNE") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Up/Northeast'

     ELSE IF (stor(i,j)=="USE") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Up/Southeast'

     ELSE IF (stor(i,j)=="USW") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Up/Southwest'

     ELSE IF (stor(i,j)=="UNW") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Up/Northwest'

     ELSE IF (stor(i,j)=="DN") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Down/North'

     ELSE IF (stor(i,j)=="DE") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Down/East'

     ELSE IF (stor(i,j)=="DS") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Down/South'

     ELSE IF (stor(i,j)=="DW") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Down/West'

     ELSE IF (stor(i,j)=="DNE") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Down/Northeast'

     ELSE IF (stor(i,j)=="DSE") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Down/Southeast'

     ELSE IF (stor(i,j)=="DSW") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Down/Southwest'

     ELSE IF (stor(i,j)=="DNW") THEN

      WRITE (7,*) ‘Lure 25, Move ',j,' Down/Northwest'

     ELSE IF (stor(i,j)==”U”) THEN

      WRITE (7,*) ‘Lure 25, Move ‘,j,’ Up’

     ELSE IF (stor(i,j)==”D”) THEN

      WRITE (7,*) ‘Lure 25, Move ‘,j,’ Down’

     ELSE IF (stor(i,j)==”SP”) THEN

      WRITE (7,*) ‘Lure 25, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+1,j)=="N") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' North'

     ELSE IF (stor(i+1,j)=="E") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' East'

     ELSE IF (stor(i+1,j)=="S") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' South'

     ELSE IF (stor(i+1,j)=="W") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' West'

     ELSE IF (stor(i+1,j)=="NE") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Northeast'

     ELSE IF (stor(i+1,j)=="SE") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Southeast'

     ELSE IF (stor(i+1,j)=="SW") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Southwest'

     ELSE IF (stor(i+1,j)=="NW") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Northwest'

      ELSE IF (stor(i+1,j)=="UN") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Up/North'

     ELSE IF (stor(i+1,j)=="UE") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Up/East'

     ELSE IF (stor(i+1,j)=="US") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Up/South'

     ELSE IF (stor(i+1,j)=="UW") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Up/West'

     ELSE IF (stor(i+1,j)=="UNE") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+1,j)=="USE") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+1,j)=="USW") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+1,j)=="UNW") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+1,j)=="DN") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Down/North'

     ELSE IF (stor(i+1,j)=="DE") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Down/East'

     ELSE IF (stor(i+1,j)=="DS") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Down/South'

     ELSE IF (stor(i+1,j)=="DW") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Down/West'

     ELSE IF (stor(i+1,j)=="DNE") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+1,j)=="DSE") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+1,j)=="DSW") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+1,j)=="DNW") THEN

      WRITE (7,*) ‘Lure 26, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+1,j)==”U”) THEN

      WRITE (7,*) ‘Lure 26, Move ‘,j,’ Up’

     ELSE IF (stor(i+1,j)==”D”) THEN

      WRITE (7,*) ‘Lure 26, Move ‘,j,’ Down’

     ELSE IF (stor(i+1,j)==”SP”) THEN

      WRITE (7,*) ‘Lure 26, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+2,j)=="N") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' North'

     ELSE IF (stor(i+2,j)=="E") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' East'

     ELSE IF (stor(i+2,j)=="S") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' South'

     ELSE IF (stor(i+2,j)=="W") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' West'

     ELSE IF (stor(i+2,j)=="NE") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Northeast'

     ELSE IF (stor(i+2,j)=="SE") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Southeast'

     ELSE IF (stor(i+2,j)=="SW") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Southwest'

     ELSE IF (stor(i+2,j)=="NW") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Northwest'

      ELSE IF (stor(i+2,j)=="UN") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Up/North'

     ELSE IF (stor(i+2,j)=="UE") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Up/East'

     ELSE IF (stor(i+2,j)=="US") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Up/South'

     ELSE IF (stor(i+2,j)=="UW") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Up/West'

     ELSE IF (stor(i+2,j)=="UNE") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+2,j)=="USE") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+2,j)=="USW") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+2,j)=="UNW") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+2,j)=="DN") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Down/North'

     ELSE IF (stor(i+2,j)=="DE") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Down/East'

     ELSE IF (stor(i+2,j)=="DS") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Down/South'

     ELSE IF (stor(i+2,j)=="DW") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Down/West'

     ELSE IF (stor(i+2,j)=="DNE") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+2,j)=="DSE") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+2,j)=="DSW") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+2,j)=="DNW") THEN

      WRITE (7,*) ‘Lure 27, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+2,j)==”U”) THEN

      WRITE (7,*) ‘Lure 27, Move ‘,j,’ Up’

     ELSE IF (stor(i+2,j)==”D”) THEN

      WRITE (7,*) ‘Lure 27, Move ‘,j,’ Down’

     ELSE IF (stor(i+2,j)==”SP”) THEN

      WRITE (7,*) ‘Lure 27, Move ‘,j,’ Stays Put’

ENDDO

DO j=,200

IF (stor(i+3,j)=="N") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' North'

     ELSE IF (stor(i+3,j)=="E") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' East'

     ELSE IF (stor(i+3,j)=="S") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' South'

     ELSE IF (stor(i+3,j)=="W") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' West'

     ELSE IF (stor(i+3,j)=="NE") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Northeast'

     ELSE IF (stor(i+3,j)=="SE") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Southeast'

     ELSE IF (stor(i+3,j)=="SW") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Southwest'

     ELSE IF (stor(i+3,j)=="NW") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Northwest'

      ELSE IF (stor(i+3,j)=="UN") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Up/North'

     ELSE IF (stor(i+3,j)=="UE") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Up/East'

     ELSE IF (stor(i+3,j)=="US") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Up/South'

     ELSE IF (stor(i+3,j)=="UW") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Up/West'

     ELSE IF (stor(i+3,j)=="UNE") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+3,j)=="USE") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+3,j)=="USW") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+3,j)=="UNW") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+3,j)=="DN") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Down/North'

     ELSE IF (stor(i+3,j)=="DE") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Down/East'

     ELSE IF (stor(i+3,j)=="DS") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Down/South'

     ELSE IF (stor(i+3,j)=="DW") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Down/West'

     ELSE IF (stor(i+3,j)=="DNE") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+3,j)=="DSE") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+3,j)=="DSW") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+3,j)=="DNW") THEN

      WRITE (7,*) ‘Lure 28, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+3,j)==”U”) THEN

      WRITE (7,*) ‘Lure 28, Move ‘,j,’ Up’

     ELSE IF (stor(i+3,j)==”D”) THEN

      WRITE (7,*) ‘Lure 28, Move ‘,j,’ Down’

     ELSE IF (stor(i+3,j)==”SP”) THEN

      WRITE (7,*) ‘Lure 28, Move ‘,j,’ Stays Put’

ENDDO

CLOSE (UNIT=7)



ELSE IF (i==29) THEN

OPEN (UNIT=8, FILE="lures29_30_31.dat")

DO j=1,200

IF (stor(i,j)=="N") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' North'

     ELSE IF (stor(i,j)=="E") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' East'

     ELSE IF (stor(i,j)=="S") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' South'

     ELSE IF (stor(i,j)=="W") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' West'

     ELSE IF (stor(i,j)=="NE") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Northeast'

     ELSE IF (stor(i,j)=="SE") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Southeast'

     ELSE IF (stor(i,j)=="SW") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Southwest'

     ELSE IF (stor(i,j)=="NW") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Northwest'

      ELSE IF (stor(i,j)=="UN") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Up/North'

     ELSE IF (stor(i,j)=="UE") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Up/East'

     ELSE IF (stor(i,j)=="US") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Up/South'

     ELSE IF (stor(i,j)=="UW") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Up/West'

     ELSE IF (stor(i,j)=="UNE") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Up/Northeast'

     ELSE IF (stor(i,j)=="USE") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Up/Southeast'

     ELSE IF (stor(i,j)=="USW") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Up/Southwest'

     ELSE IF (stor(i,j)=="UNW") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Up/Northwest'

     ELSE IF (stor(i,j)=="DN") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Down/North'

     ELSE IF (stor(i,j)=="DE") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Down/East'

     ELSE IF (stor(i,j)=="DS") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Down/South'

     ELSE IF (stor(i,j)=="DW") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Down/West'

     ELSE IF (stor(i,j)=="DNE") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Down/Northeast'

     ELSE IF (stor(i,j)=="DSE") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Down/Southeast'

     ELSE IF (stor(i,j)=="DSW") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Down/Southwest'

     ELSE IF (stor(i,j)=="DNW") THEN

      WRITE (8,*) ‘Lure 29, Move ',j,' Down/Northwest'

     ELSE IF (stor(i,j)==”U”) THEN

      WRITE (8,*) ‘Lure 29, Move ‘,j,’ Up’

     ELSE IF (stor(i,j)==”D”) THEN

      WRITE (8,*) ‘Lure 29, Move ‘,j,’ Down’

     ELSE IF (stor(i,j)==”SP”) THEN

      WRITE (8,*) ‘Lure 29, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+1,j)=="N") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' North'

     ELSE IF (stor(i+1,j)=="E") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' East'

     ELSE IF (stor(i+1,j)=="S") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' South'

     ELSE IF (stor(i+1,j)=="W") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' West'

     ELSE IF (stor(i+1,j)=="NE") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Northeast'

     ELSE IF (stor(i+1,j)=="SE") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Southeast'

     ELSE IF (stor(i+1,j)=="SW") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Southwest'

     ELSE IF (stor(i+1,j)=="NW") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Northwest'

      ELSE IF (stor(i+1,j)=="UN") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Up/North'

     ELSE IF (stor(i+1,j)=="UE") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Up/East'

     ELSE IF (stor(i+1,j)=="US") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Up/South'

     ELSE IF (stor(i+1,j)=="UW") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Up/West'

     ELSE IF (stor(i+1,j)=="UNE") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+1,j)=="USE") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+1,j)=="USW") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+1,j)=="UNW") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+1,j)=="DN") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Down/North'

     ELSE IF (stor(i+1,j)=="DE") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Down/East'

     ELSE IF (stor(i+1,j)=="DS") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Down/South'

     ELSE IF (stor(i+1,j)=="DW") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Down/West'

     ELSE IF (stor(i+1,j)=="DNE") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+1,j)=="DSE") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+1,j)=="DSW") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+1,j)=="DNW") THEN

      WRITE (8,*) ‘Lure 30, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+1,j)==”U”) THEN

      WRITE (8,*) ‘Lure 30, Move ‘,j,’ Up’

     ELSE IF (stor(i+1,j)==”D”) THEN

      WRITE (8,*) ‘Lure 30, Move ‘,j,’ Down’

     ELSE IF (stor(i+1,j)==”SP”) THEN

      WRITE (8,*) ‘Lure 30, Move ‘,j,’ Stays Put’

     ENDIF

ENDDO

DO j=1,200

IF (stor(i+2,j)=="N") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' North'

     ELSE IF (stor(i+2,j)=="E") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' East'

     ELSE IF (stor(i+2,j)=="S") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' South'

     ELSE IF (stor(i+2,j)=="W") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' West'

     ELSE IF (stor(i+2,j)=="NE") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Northeast'

     ELSE IF (stor(i+2,j)=="SE") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Southeast'

     ELSE IF (stor(i+2,j)=="SW") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Southwest'

     ELSE IF (stor(i+2,j)=="NW") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Northwest'

      ELSE IF (stor(i+2,j)=="UN") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Up/North'

     ELSE IF (stor(i+2,j)=="UE") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Up/East'

     ELSE IF (stor(i+2,j)=="US") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Up/South'

     ELSE IF (stor(i+2,j)=="UW") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Up/West'

     ELSE IF (stor(i+2,j)=="UNE") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Up/Northeast'

     ELSE IF (stor(i+2,j)=="USE") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Up/Southeast'

     ELSE IF (stor(i+2,j)=="USW") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Up/Southwest'

     ELSE IF (stor(i+2,j)=="UNW") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Up/Northwest'

     ELSE IF (stor(i+2,j)=="DN") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Down/North'

     ELSE IF (stor(i+2,j)=="DE") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Down/East'

     ELSE IF (stor(i+2,j)=="DS") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Down/South'

     ELSE IF (stor(i+2,j)=="DW") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Down/West'

     ELSE IF (stor(i+2,j)=="DNE") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Down/Northeast'

     ELSE IF (stor(i+2,j)=="DSE") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Down/Southeast'

     ELSE IF (stor(i+2,j)=="DSW") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Down/Southwest'

     ELSE IF (stor(i+2,j)=="DNW") THEN

      WRITE (8,*) ‘Lure 31, Move ',j,' Down/Northwest'

     ELSE IF (stor(i+2,j)==”U”) THEN

      WRITE (8,*) ‘Lure 31, Move ‘,j,’ Up’

     ELSE IF (stor(i+2,j)==”D”) THEN

      WRITE (8,*) ‘Lure 31, Move ‘,j,’ Down’

     ELSE IF (stor(i+2,j)==”SP”) THEN

      WRITE (8,*) ‘Lure 31, Move ‘,j,’ Stays Put’

ENDDO

CLOSE (UNIT=8)

ENDIF

ENDDO



END SUBROUTINE



SUBROUTINE fitout(fit,wall)

IMPLICIT none

 INTEGER::fit(31),wall(31),i



OPEN (UNIT=9, FILE="fit.dat")

DO i=1,31

 WRITE (9,*) 'Number of times lure(',i,') snagged ',wall(i)

 WRITE (9,*) 'Fitness of lure (',i,') ',fit(i)

ENDDO

END SUBROUTINE







!Notes:

!1)  fix fitness subroutine


